Choose one of the following: A, B or C and complete.

A

Multiply by

€ s8 Q 70
s O3
©720 © 2
O a4t
O 47 @ 93
Q15 @00
Divide by

& 700 O 5100
@ 2950 € 2000
B 4100 €D 3700
Heo €D 800
(& so00 €5 10000
(D 6340 €D 4600
Copy and complete.
€ | |x10=2560
@[ ]+10=70
€ [ ]x100 = 3900
@ + 100 =40
& [ |x10=5700
@ l—_: =~ 10 = 68

€ [ %100 = 1000
@ ]=100=25

B

Multiply by 100.

Q oo © 476
Qs @903
© s @os
© o4 08
O 21 @ 2307
@oos @ o2ss
Divide by 100.

® 37 @ o6
(143 €D 3098
® 150 € 207
D 6204 @ 509
D3 @14
D 170 @ 1002

C

Multiply by 1000.
Qoo @ 05
e 0-309 e 6.7
© 23 © o014
Q143 @ osss
Qoo @ 206
Qo2 @ o009
Divide by 1000.

® 70 @ 4007
(14303 €D 936
® 4800 € ss0
©x @
@30 An
@ 82500 € 300

If you choose A, finish up to Q.24.

Extension: questions 25—32.



